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Extension Questions

1. How is your group’s table similar to the modern periodic table? How is it different?
2. Why does tellurium come before iodine on the modern periodic table even though it has a higher atomic mass?

3. Why wasn’t Mendeleev able to predict the presence of noble gases, even though he was able to predict the existence of gallium and germanium?

Answer KEY 
Extension Questions

1. How is your group’s table similar to the modern periodic table? How is it different?


Answers will vary. Possible answers may include:

· Group periodic tables did not include transition metals.
· The table stopped at xenon (Xe).
· It was based on atomic mass, not the atomic number.

2. Why does tellurium come before iodine on the modern periodic table even though it has a higher atomic mass?


A possible answer is that the ascending order of the periodic table is based on the number 
of protons in each element, which is called its atomic number. Its atomic mass is the sum 
of its protons and neutrons and the number shown is based on the average of 
all the 
isotopes of that element, which have different numbers of neutrons. Tellurium has a 
lower number of protons but heavier isotopes, which increase its atomic weight.
3. Why wasn’t Mendeleev able to predict the presence of noble gases, even though he was able to predict the existence of gallium and germanium?


 
A possible answer could be that Mendeleev knew about the possible existence of gallium and germanium from the properties already existing in aluminum and silicon, which helped 
him theorize about gallium and germanium.
